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Note, Van der waits egn of state hes

a change in behavior corresponding to

a critical point .
Can predict

Some " critical believer " C see pg 175-1771

but we win , discuss More w/ phase transitions
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These ] actually some of the first

things people tried to compute with
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E.S . do System of disks crystallize ?

first shown on a computer by Alder &
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. Crystal actually has

mare entropy !



How do we do these simulations ?
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Conclusion ! Monte Carlo is a verypowerful
( Easy) and general method for sampling from a

distribution
, not just in chemistry .

Useful in

Statistics ,
date science ,

machine learning . .
.

Downsides : Ill only one thing happens at a time

sometimes many mores rejected C inefficient )

(2) Generally good for state properties,
not likely any connection to real time

,
so

not good if you want info about kinetics


